# Dividing with a Numberline Name:

Use the numberline to solve each problem. Answers

1 1 1 1 | 1 1 1 1
I T T T T I T T T T I

2) 6+2=¢ 6 10

3) 12+4=g 10 12 20

4) 15+5= 10 15 20

5) 28+7=9 10 20 28

6) 40+10=¢ 10 20 30 40

11

7) 24+6=( 10 20 24 30

8) 30+10=¢ 10 20 30

9) 30+6= 10 20 30

10) 12+3=g 10 12 20

11) 18+6=9 10 18 20
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Ch Dividing with a Numberline Name: Answer Key

Use the numberline to solve each problem. Answers

1) 9+3:?//"_"\\\///’—_‘\\\{//’——‘\\\@
T G S G O PRS-

3) 12+4= 0 —~12 20

4) 15+5:?//"_——_—\\\\Y///’———_—\\\§¥}/”——___‘\\\%5 20 6
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 I >

5) 28+7= 10 8 30 8. 3

6 =10=
TN orS¥RSoe ons¥otoes consvatoes ST PO

11 3

7) 24+6= T 0 4 30

8)30+10:(l)/W\'%0
||||||||||||||||||||||||||||||||>

9) 30:6= T 0 0

10) 12+3= 0 2 20

1) 186 ——— T~ — 8
1 1 1 1 | 1 1 1 1 I 1 1 1 1 I 1 1 ' 1 | 1 1 1 1 | >

1 1-10 |91]82|73|64[55[45(36]27|18] 9 |

[ M ath ] www.CommonCoreSheets.com




# Dividing with a Numberline Name:

Use the numberline to solve each problem. Answers
1) 15+5=¢ 10 15 20
R T e e R 1
2,
2) 16+8=g 10 16 20
R e S T R R S B U S A R 2 3
4.
3) 8+2=¢ 8 10
e T e e e e :
4) 36+9=¢ 10 20 30 36 40 o
7.
5) 10+5=¢ 10 8.
R R T A A F S S I R 2
9.
6) 16+4=g 10 16 20 0
| ] ] ] ] | ] ] ] ] | ] ] ] ] | ] ] ] ] | ] ] > '
I s
11.

I

8) 12+6=¢ 10 12

9) 6+3= 6 10

[
-0

10) 18+9=¢ 10 18 20
I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 } I 1 1 } 1 >
11) 45+9=¢ 10 20 30 40 45 50
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Ch Dividing with a Numberline Name: Answer Key

Use the numberline to solve each problem. Answers

1) 15+5= . S 20
1 1 1 1 1 1 1 1 1 1 1 1 1 1 ] ] I > 1. 3

2. 2

2) 16+8= O— 10 16 20
1 1 1 1 | 1 1 1 1 I 1 1 1 1 | ' 1 1 1 | 1 1 1 > 4

3) 8:2= 10

4) 36+9= 5 6 40 6. 4

1 1 1 1 1 1 1 1 1 1 1 1 | 1 1 1 >

6) 16+4=
) 10 6 20 L0 2

11. )

7) 6+2= 10

B 12062 ——— 10—
1 1 1 1 | 1 1 1 1 I 1 ' 1 1 | 1 1 1 >

9 6+3=¢ 6 10

10) 18+9= m/—\@ 20
1 1 1 1 I 1 1 1 1 I 1 1 1 1 | 1 1 i 1 | 1 1 1 1 >
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# Dividing with a Numberline Name:

Use the numberline to solve each problem. Answers

1) 30+10=g 10 20 30

2) 28+7=9 10 20 28

v
w

I

4) 32+8= 10 20 30

5) 15+3=g 10 15 20 8.

6 5=
) 10+5=¢ 10 L0

11

7) 18+6=( 10 18 20

8) 20+10=g 10 20

9) 36+9= 10 20 30 36 40

10) 20+4=9 10 20

11) 9+3= 9 10
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Ch Dividing with a Numberline

Name:

Answer Key

Use the numberline to solve each problem.

1)30+10:W_WO
T TR T T NN N T T T AT TN T T N SN M TN T TN T N T Y SN S NN T Y TN SO [N N
| |

2) 28+7= 10 8 30

4) 32+8= 20 2

5) 15:3= 0 5 20

1 1 1 1 1 1 1 1 1 1 1 1 | >

7) 18+6= (KV—E\/—\;S 20
1 1 1 1 | 1 1 1 1 I 1 1 1 1 I 1 1 ' 1 | 1 1 1 1 | >

8 20:10=g ————— 30—
1 1 1 1 | 1 1 1 1 1 1 1 1 | 1 1 1 1 1 1 1 1 | 1
|

9) 36+9= 0 6 40

10) 20+4= 10 0

11) 9:3= 10

10.

11

Answers

3

4
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# Dividing with a Numberline Name:

Use the numberline to solve each problem. Answers

1) 9+3=p 9 1|o
—

2) 10+5=¢ 10

3) 32+8= 10 20 30

I

5) 24+6= 10 20 24 30 8.

6) 8+4=
) 0 8 10 10

11

7) 4+2:(|) 4 10
I

8) 30+6=0 10 20 30

9) 20+4=¢ 10 20

10) 12+4=g 10 12 20

11) 50+10=9 10 20 30 40 50
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Ch Dividing with a Numberline Name: Answer Key

Use the numberline to solve each problem. Answers

1) 9+3= 10
|::::|::::|::::|::::> 1. 3

2. 2

1 1 1 1 1 1 1 1 1 1 1 1 | 1 1 1 1 >

3) 32:8= 20 2

4) 8+2= 10 6 2

5) 24+6= T 0 4 30 8. S

6) 8:4= 8 10 10 3

v

11. )

) 4+2= 4 10

8) 30+6= 1 0 0

9) 20+4= 10 0

10) 12+4= 10 42 20

AR AOUUTORD, SUTUON: AUTTUD: SOOI AT IO
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# Dividing with a Numberline Name:

Use the numberline to solve each problem. Answers

1) 35+7=¢ 10 20 30 35 40

2) 21+7=9 10 20 21

3) 12+6=¢ 10 12 20

4) 6+2= (I) 6 10 °.
|

5) 28+7=9 10 20 28

v

6 L D=
) 10+2=( 10 L0

11

| —

8) 18+6=0 10 18 20

9 10+5=¢ 10

10) 18+9=9 10 18 20

11) 24+6=¢ 10 20 24
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Ch Dividing with a Numberline Name: Answer Key

Use the numberline to solve each problem. Answers

1) 35+7=q 5Q 0 35 40
AR T s . 5

2) 21+7= O~ T~ 10~ 202
1 1 1 1 I 1 1 1 1 I 1 1 1 1 1 1 1 1 I ' 1 1 1 1 1 >

3) 12+6= (P/WZ 20
1 1 1 1 | 1 1 1 1 I 1 ' 1 1 | 1 1 1 1 | >

4) 6+2= 6 10 6. 5

5) 28+7= 10 8 30 8. 3

6) 10+2= 0 o 5

11. 4

7) 9+3= 10

8) 18+6= (KW\:L8 20
1 1 1 1 I 1 1 1 1 I 1 1 1 1 | 1 1 ' 1 | 1 1 1 1 >

1 1 1 1 1 1 1 1 1 1 1 1 | 1 1 1 1 >

10) 18:9=g ———— s~ I8
1 1 1 1 | 1 1 1 1 I 1 1 1 1 I 1 1 ' 1 | 1 1 1 1 | 1 >
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# Dividing with a Numberline Name:

Use the numberline to solve each problem. Answers
1) 12+6=¢ 10 12 20
R T e e R 1
2.
2) 50+10= 10 20 30 40 50
| ; | ; | ; | ; | ; | ; > s
4.
3) 6+2:0 6 10
| : : : : | : : : : | > :
4) 10+5:0 10 6.
R R T S A F S T I RN 2
7.
5) 16+8=¢ 10 16 20 8.
R T e L L A N LA R R S S B R URR BN AR Y 2
9.
6) 8+2=9 8 10
10.
A A A A IR R 2
11.
7) 35+7=¢ 10 20 30 35 40
8) 40+10=¢ 10 20 30 40
9) 18+6=¢ 10 18 20
————t—+—+—+—+4+—+—+—+—+—+—+—+—+}+—+—»
10) 25+5=¢ 10 20 25 30
TR R } | PR R (IR SRR AT T S R } L, >
| I | |
11) 30+6=9 10 20 30
e
I | | | | I | |
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Ch Dividing with a Numberline

Name:

Answer Key

Use the numberline to solve each problem.

Answers

2

2)

3)

4)

5)

T T T T T T T T T T T T : : : >
| I |
7 5
R A L T R T e .

6)

10.

7)

8)

9)

11

40

10)

11)

82|73]64|55|45]|36]|27[18] 9 |




# Dividing with a Numberline Name:

Use the numberline to solve each problem. Answers
1) 24+6=9 10 20 24 30
R R R R R L 1
2.
2) 16+8=¢ 10 16 20
T B e e S R A R BT T I ERN A 2 3
4,
3) 10+2=¢ 10
R L T e :
4) 40-8=¢ 10 20 30 40 50 °
7.
o) 6+2=0 6 10 8.
R e e e
9.
6) 40-10=g 10 20 30 40 L0
11.
7) 15+3=¢ 10 15 20
T S S B R A A S T I EEN A =
8) 18+9=¢ 10 18 20
H————t———+—t+——+—+—t—+—+—+—+F+—+—+—+++>
9 27+9=9 10 20 27 30
e v b b e >
L L L L B LI B L BN B
10) 36+9=¢ 10 20 30 36 40
11) 8+4=¢ 8 10
I I I I I I I I I I I I I I J >
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C{}E—j Dividing with a Numberline

Name: Answer Key

Use the numberline to solve each problem.

1) 24+6= 1 0 4

Answers

|> 1. 4

2. 2

2 16829 ————— g
1 1 1 1 | 1 1 1 1 1 1 1 1 | 1 1 1 1
I T

3) 10+2= 0

RN AT SO O & AT ST A

5) 6+2= 10

R OO SUTTTOU AUTIUT ORI, (ST [

11 2

8) 18:9= O— T~ I8 20
1 1 1 1 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
| | 1

1 1
I T T T T T T T T T T T T I T T T I T T T T I T
9) 27+9= T S o T
RTINS (TR N A TS SN SNUNNTIN SNAN NN SN NN S SN N S
I T T T T I T T T T I T T T T I T T T T I T T T T I T T T T I T T T T I

10) 36+9= 0 6

11) 8+4=( 8 10
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# Dividing with a Numberline Name:

Use the numberline to solve each problem. Answers

1) 50+10=g 10 20 30 40 50

2) 16+4=9 10 16 20

3) 14+7=¢ 10 14

4) 28+7=q 10 20 28

5) 20+4=g 10 20 8.

6) 45+9=¢ 10 20 30 40 45 50

11

7) 20+10=¢ 10 20

8) 16+8=y 10 16 20

9) 12+4= 10 12 20

10) 4+2= (|) 4 10
I

11) 36+9=9 10 20 30 36 40
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Ch Dividing with a Numberline

Name:

Answer Key

Use the numberline to solve each problem.

RN PRI OTTTRIY: SOTIRIS SOOI ST TR

2)

Answers

5

4

16+4= 10 6 20
L T S e AL T S S A I U R

3)

4)

5)

A U UG STV 0 AP 00 O

7)

10.

11

8)

9)

10 2 20
1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1
I T T T T I T T T T I T T T T I T T T T I T

10)

11)

36+9=o£ Dﬁ _':ﬂ ﬁﬁo ﬁG 40

1-10
11
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# Dividing with a Numberline Name:

Use the numberline to solve each problem. Answers

1) 6+2=0 6 10

2) 18+9=¢ 10 18 20

3) 28+7=9 10 20 28

4) 45:9= 10 20 30 40 45 50

5) 8+4=¢ 8 10 8.

6) 30+10=¢ 10 20 30 L0

11

7) 14+7=9 10 14 20

8) 16+4=y 10 16 20

9) 15+3= 10 15 20

10) 12+6=¢ 10 12

11) 25+5=¢ 10 20 25 30
-+ttt
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Ch Dividing with a Numberline Name: Answer Key

Use the numberline to solve each problem. Answers

1) 6+2= 10 3

v
-

2. 2

2) 18+9= O — T~ I8 20
1 1 1 1 | 1 1 1 1 I 1 1 1 1 I 1 1 ' 1 | 1 1 1 1 | > 4

T T N N I S | I T S N S I T N I T T T N I — - |>

5) 8+4=( 8 10 8. 4

6) 30+10=¢ 0

11. )

7) 14+7= e . S 20
1 1 1 1 | 1 1 1 1 I 1 1 1 ' | 1 1 1 1 | >

8) 16+4= 0 6 20

9) 15:3= 0 5 20

10) 12:6=9 ———— _—— T—
1 1 1 1 | 1 1 1 1 I 1 I 1 1 | 1 1 >

11) 25:5= 5 30
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# Dividing with a Numberline Name:

Use the numberline to solve each problem. Answers
1) 18+9=9g 10 18 20
L L e A e N R 1
2.
2) 15+5=g 10 15 20
R e S T R R S B U S A R 2 3
4,
3 8+2=¢ 8 10
R T T A F S T S I RN 2 :
4) 16+4=¢ 10 16 20 °
R R B O LA F LA R A R S S B R URR BN AR Y 2
7.
5) 40+10=g 10 20 30 40 8.
9.
6) 4-2= 4 10
10.
R e R T e T e
11.
7) 45:9=¢ 10 20 30 40 45 50
8) 15+3=¢ 10 15 20
<H————t—+—+—+—+f+—+—+—+—+—+—+—+—+}+—+—+—>
9 28+7=g 10 20 28 30
RN SRR N T A NN A A AN N NN N S AR T NS >
L L
10) 16+8=¢ 10 16 20
I I I I I I I I I } I I I I I I I I I I I I } >
11) 8+4=¢ 8 10
I I I I I I I I I I I I I I I I >
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Ch Dividing with a Numberline Name: Answer Key

Use the numberline to solve each problem. Answers

1) 18:9= K—N@/N8 20
1 1 1 1 | 1 1 1 1 I 1 1 1 1 I 1 1 1 1 | 1 1 1 1 | > 1. 2

2. 3

2) 15+5= W5 20
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 I 1 1 1 > 4

3) 8:2= 10

4) 16+4= 10 6 20

Y Y i s P

0 42 10 o 2

11 2

8) 15:3= 0 5 20

9) 28+7= 10 8 30

10) 16:8=9 ———— 0 16 20
1 1 1 1 | 1 1 1 1 I 1 1 1 1 | ' 1 1 1 | 1 1 >

11) 8+4=g 8 10
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